#HEZEA BEROBRFEERARSR
TRHI0EE FEE

FERR19E4R1BMD
FR20F3H31HET
RAZHEDOFHED (B - F)
EhEF E FHEE AIEEFHEE R &%
I. u)z)\(D%B
. REBEIRA ( 3,300,000 H[{ 3,300,000 )¢ 0)
ARBEREBIINA 1,100,000 1,100,000 0
(M KEKERKEIRA) € 100,000 ) [¢ 100,000 )
BEESEILA 500,000 500,000 0
CREREIA 600,000 600,000 0
(W GEREREIXA) ( 100,000 ) [¢ 100,000 )
DEEREILA 1,100,000 1,100,000 0
2. BHELIT-IRA ( 8,100,000 )|{ 8,000,000 »({ 100,000 )
EIF—EERIRA 8,000,000 7,800,000 200,000
M REEILA 0 100,000 A 100,000
EEMHHESULA 100,000 100,000 0
3. MAEHERIRA [ 2,500,000 (¢ 3,000,000 )¢ A 500,000 )
4. MERAFBEFRA [ 1,000,000 Y| 1,000,000 Y| 0)
5. BEIRA ( 500,000 )| 500,000 )| 0)
6. EMIEULA ( 8,000,000 ) (¢ 8,000,000 Y[{ 0)
7. FIEURA ( 200,000 )| 10,000 »|{ 190,000 )
8. HBEEFINA ( 400,000 Y| 400,000 )| 0)
9. MIXA ( 320,000 )|{ 320,000 )| 0)
LHURAERT (A) 24,320,000 24,530,000 A 210,000
ATHARR RN 4B 31,024,359 33,354,947 A 2,330,588
IRAE& (B) 55,344,359 57,884,947 A 2,540,588




#HHEAN BROMEFFEEERAES
TERI9EE FEE

TR19FE4F1BH D
FR20FE3R31BET
RAZHDFHQ (B )
EhEF H FHEE AIFEETESR R &%
0. XHOE

1. BXE ( 19,550,000 Y| 19,690,000 )| A 140,000 )

1) AHBZE < 3,500,000 )¢ 3,040,000 (¢ 460,000 )
HBHFH 3,000,000 2,700,000 300,000
EERAE 300,000 200,000 100,000
BHNELEE 200,000 140,000 60,000

(2) BXREE ( 16,050,000 (€ 16,650,000 )| A 600,000 )

BER 3,000,000 3,000,000 0
WREXBRE 400,000 300,000 100,000
RERIZ 2,000,000 2,000,000 0
BEEMEAE 1,500,000 3,000,000 A 1,500,000
ERTHEE RS 1,500,000 1,000,000 500,000
BEE 2,000,000 2,000,000 0
EHEAME 400,000 400,000 0
VI AHEEE 5,000,000 4,800,000 200,000
EREAE 200,000 100,000 100,000
HE 50,000 50,000 0

2. BWE ( 4,670,000 (¢ 4,740,000 Y[{ A 70,000 )

1) AHBE € 3,150,000 )| 3,010,000 )€ 140,000 )
HBWHFE 2,700,000 2,640,000 60,000
EERAE 250,000 200,000 50,000
RAELEE 200,000 170,000 30,000

(2) —HRERE € 1,520,000 Y[{ 1,730,000 )¢ A 210,000 )

RE 700,000 710,000 A 10,000
JEVE 100,000 100,000 0
WREXRE 200,000 300,000 A 100,000
ZIFHH 20,000 20,000 0
HE 400,000 400,000 0 |« mmfzas
AR 100,000 200,000 A 100,000 |«2 A% H#EE:
3. FlRE ( 100,000 ) [ 100,000 »|{ 0)
LEIXHER (C) 24,320,000 24,530,000 A 210,000
LHEIINZZEER (A)-(C) 0 0 0
REAHEHIN L =58 (B)-(C) 31,024,359 33,354,947 A 2,330,588




